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1 NS4/ 74 2,500 44 T—LNZHAK(A) 300 87 NNV T 1,500
2 IRTIEXINZ 100 45 F—LNZAIR A HF—Tva 100 88 BB 150
3 INHEES 800 46 ~N—JL#A 4,000 89 BEERIE 50
4 NS 100 47 BlEARILD 50 90 NBRIEFrYT 300
5 EftES 500 48 N—=)VBAFT H/N— 800 91 NURIVER 10,000
6 INHEES 200 49 BEEARIS 50 92 BEERIE 50
7 NSUES 100 51 B (7x10) 50 93 Tr—LIYTREARY TR 100
8 N7 TRT IEX 50 52 BEERI S 100 94 JA—=LIYTINEHT— 200
9 R—=INXF1)>4 (6x10x3 SARB) 1,200 53 100 95 FEE 50
10 AT—=ILEV R 100 55 O—>—275vF4 1,100 96 JA—LIvTREY 400
11 AT—ILEV 100 56 oy 300 97 XA v 7R 2,500
12 BEERIS 100 57 O—5—95v9FA{F— 200 98 RTEAH—K 1,000
13 27— 10,000 58 O—5—059FA>F—ho5— 100 99 BEERIS 100
14 AT—IVES 50 59 BEERI S 100 100 RFLH/IN— 100
15 AT—IVES 50 60 N7 TS TR 200 101 RTF1H—KHF— 200
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20 B 100 65 oy 100 106 JA—Lv b 1,000
21 SFIYNNZR 100 66 EZA ¥ 7 AX—H— 100 107 oy 100
22 KSIEHFF IV 200 67 R=IXF1)>4 (6X10x3 SARB) 1,200 108 BEFHIN 300
23 AT=IZ=T 100 68 ¥ 78 300 109 BB FHIRB) 300
24 BEERI S 50 69 O E Pz 300 110 BEERI S 50
25 Ur—7+— 200 70 BEERI S 100 111 HRgE7 (S) 700
26 O—&—~XF7YU>53 =)L 200 71 e EED] 100 112 FES 50
27 O—&2—7vhk 300 72 R=INXF1>5 (2x5%2.5 SARB) 1,200 113 FREF7 (L) 800
28 FHEIN\R 100 73 JA—=LIYTNET 800 114 RT4 14,000
29 FHEY 100 74 TVo3a )G AN—Y— 200 115 NIRRT )a—FvvT 500
31 FA4va—5—(RXFUFAL) 2,000 75 R=IXF1)>4 (7x11%X3 SARB) 1,200 116 B 50
33 14> 0—5—%45 100 76 KSA7F¥ 74 2,500 117 FA>O—5—FYIh5— 450
34 BEERI S 200 77 R—=INXTF1)>4 (7x13%x4 SARB) 1,200 118 SAa—5— 7Y 5 hS5— 450
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36 T—LHL 500 79 BT —=) 200 121 O—&—h5— 800
37 O0—&— 5,000 80 74 5,000

38| WFILI— 200 81 | BEFULE 50 31| mEEs—h (B | 200
39 F—LINFHAR(A) BF— 100 82 NURIVERS—IL 200

40 T—=LHLINZR 100 83 N\RIVERY /N (B) 500 *FO1 U= (D1 1,200
41 T— LD LNZ—h 200 84 INURIVERY N 1,800 TRST | BURGHEASE [(SIEE 100
42 S 100 85 NRIL 4,000 BNKI | 9K (HE& 100
43 7 — LB E 200 36 R=INXF> 5 (4XT7%x2.5 SARB) 1,200 ITOS | AF—ILRIEXS—IL (HE®) 100






